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1.|2017 New 300-370 Exam Dumps (PDF & VCE) 115Q&As Download:https://www.braindump2go.com/300-370.html   2.|2017

New 300-370 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNdGVBOXFERG9OSFU?usp=sharing   QUESTION 33A WLAN was

installed at a high AP density. DTPC is lowering the transmit power of many APs too low. Which change m the DTPC transmit

power threshold must be made to allow APs to globally increase AP transmit power by 3dBm? A.    from 70 dBm to 73 dBmB.   

from -70 dBm to -73 dBmC.    from 70 dBm to 67 dBmD.    from -70 dBm to -67 dBm Answer: D QUESTION 34A user reports

being unable to connect to a server with a certain program while connected to wireless. Wh.ch troubleshooting methodology can be

used to begin the troubleshooting process? A.    top-downB.    shoot from the hipC.    follow the pathD.    bottom-upE.    divide and

conquer Answer: A QUESTION 35A client is failing EAP authentication and a debug shows that the server is sending an

Access-Reject message. Which action must you take to resolve authentication? A.    Verify that the Validate server certificate on the

client is disabled.B.    Verify that the client certificates are from the proper CA and server certificate.C.    Verify that the client server

certificate has the proper Windows OlDs.D.    Verify that the user account is the same in the client certificate.E.    Verify that the

user is using the same password that is on the server Answer: B QUESTION 36When implementing interface groups, how are the IP

addresses sourced via DHCP for wireless clients? A.    through the primary interface of the groupB.    through round robin between

interfacesC.    through interface group definitionD.    through the interface receiving the first response Answer: B QUESTION 37

Which three steps would a network engineer use to troubleshoot an AP join problem? (Choose three.) A.    Validate the STP

configuration.B.    Verify the ping AP from the controller.C.    Verify the ping AP from the client.D.    Verify that the AP is getting

an address from the DHCP server.E.    I Validate the SNMP configuration.F.    Verify the authentication configuration parameters.

Answer: ABF QUESTION 38An engineer has run the debug dhcp packet enable command on the wireless LAN controller CLI.

Which field contacts the IP address offered to the client? A.    siaddrB.    ciaddrC.    chaddrD.    yiaddrE.    giaddr Answer: C

QUESTION 39Refer to the exhibit. Access points ate deployed in an office building and users report that the real-time

communications quality of experience is poor when users walk between the elevators The elevators are a heavy metallic obstacle,

and AP 3 was installed to cover the elevator area, which AP t and AP 2 signal does not reach Communications are captured for a

user walking from point A to point C. and it is observed that the user iPhone device suddenly scans all bands and then roams from

AP I to AP 3 somewhere between points B and C WLAN is set to 5 GHz only. Open, default rate configuration. Which action

improves the real-time application quality of experience in this area?  

  A.    Enable 802 11v on the WLANB.    Enable 802 11r on the WLANC.    Enable 802 11k on the WLAND.    Move AP 2 to point

B Answer: B QUESTION 40A mobile workstation in a factory contains an AP that is configured as a workgroup bridge.When the

workstation moves, it loses connectivity and disrupts operation.What can the engineer implement to minimize roaming problems? A.

   Use 802.1X authentication.B.    Use Cisco Centralized Key Management for fast roaming.C.    Use AES for encryption.D.    Use

the mobile station command. Answer: D QUESTION 41Refer to the exhibit. A new wireless deployment with high AP density is

experiencing high latency and connectivity issues on the 24 GHz band, despite an initial site survey done by a certified partner.

Which option is the most impactful change a wireless consultant recommends?  
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  A.    Increase the fragmentation threshold to allow larger packets over the air.B.    Reduce the beacon period because it reduces the

RF interference.C.    Disable lower data rate, such as 1 Mbps and 2 Mbps.D.    Disable the short preamble.E.    Disable 80211g

support to reduce interference. Answer: C QUESTION 42An engineer is concerned about rogue-on-wire and wants to enable port

security. Which guideline must the engineer follow? A.    Configure Switched Port Analyzer destination ports as secure.B.    Use

802 1x with port security to prevent MAC spoofing.C.    Enable port security on dynamic access ports.D.    Employ static MAC

address configuration for APs with port security. Answer: A QUESTION 43An alarm is reporting that one of four ports of a lag

group have gone down on a wireless LAN controller. Which troubleshooting methodology can be used to begin the troubleshooting

process? A.    shoot from the hipB.    bottom-upC.    top-downD.    follow the pathE.    divide and conquer Answer: B QUESTION

44Which ports require unrestricted port access for CleanAir RF spectrum analysis between the AP and Cisco Spectrum Expert? A.   

UDP 5246 and 5247B.    UDP 37540 and 37550C.    TCP 16113 and 16114D.    TCP 37540 and 37550E.    TCP 5246 and 5247F.   

UDP 16113and 16114 Answer: D QUESTION 45Refer to the exhibit. A client reports being unable to log into the wireless network,

which uses PEAPv2. Which two issues appear in the output? (Choose two)  

  A.    The AP has the incorrect RADIUS server addressB.    There is a problem with the client supplicantC.    The AP has lost IP

connectivity to the authentication serverD.    The authentic at ion server is misconfigured on the controllerE.    The EAP client

timeout value should be increasedF.    The authentication server is misconfigured in the WLAN Answer: AE  !!!RECOMMEND!!! 
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